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H234E
H23.3~H24.3 8
X 43(mSv) HE w5
#HEe 1ot
200#8 % 0 0 0
150/ 2 ~200LLF 7 3 10
100X ~150LLF 59 8 67
7582 ~100LLF 108 29 137
5088% ~T5LLTF 233 236 469
20f8% ~50LLF 671 2492 3163
108X ~20LLF 555 2820 3375
5% ~10LLF 427 2568 2995
18X ~5LTF 599 4720 5319
1T 756 4844 5600
it 3415 17720 21135
= A(mSv) 188.14 199.42 199.42
3 H)(mSv) 19.21 9.34 10.93
HEMBEL., BB CHEBAZT-RETHY., ROKIZEDOEMFEREIL150mSv/E (BAHIEL
FRE300mMSv) &2 TLVS,
X1I50BZNEEHE 7L RUHBADEIZIZONTIE., BEWHIE<REGOMSY)EALHBBIZEITS
WIELTH B,
H244EE
H24.4~H25.3 8
X 43(mSv) HE w5
#HEe 1ot
15048 % 0 0 0
100X ~150LLF 0 0 0
7582 ~100LLF 0 0 0
5088% ~75LLF 1 54 55
20#8% ~50LLF 65 733 798
108X ~20LLF 133 1970 2103
5% ~10LLF 259 1843 2102
18X ~5LTF 580 3295 3875
1T 588 4221 4809
&t 1626 12116 13742
= A(mSv) 55.60 67.30 67.30
FE#(mSv) 455 6.31 6.10
H254E &
H25.4~H26.3 B
X 43(mSv) HE w5
#HEe 1ot
15048 % 0 0 0
100X ~150LLF 0 1 1
71588 % ~100LLF 0 1 1
5088% ~T5LLTF 2 34 36
208 % ~50LLF 52 835 887
108X ~20LLF 100 2050 2150
5% ~10LLF 210 1830 2040
18X ~5LTF 644 3619 4263
1T 684 4684 5368
&t 1692 13054 14746
= A(mSv) 68.30 106.88 106.88
FE1#(mSv) 3.78 6.10 5.83




H26 £

H26.4~H27.38
X5 (mSv) HE Bh
o= | X
15048 % 0 0 0
10082 ~150LLF 0 0 0
75488 % ~100LLF 0 0 0
508BZ ~T5LLF 1 70 71
20#BZ ~50LLF 12 1232 1244
10882 ~20LLF 68 2605 2673
588%2 ~10LLF 159 2640 2799
182 ~5LUTF 630 5182 5812
1UTF 818 7313 8131
it 1688 19042 20730
=EAR(mSv) 56.50 62.91 62.91
T (mSv) 2.42 5.97 5.68
H27T4EE
H27.4~H28.38
X5 (mSv) HE Bh
G- | X
15048 % 0 0 0
10082 ~150LLF 0 0 0
715488 Z ~100LLF 0 6 6
50882 ~T5LF 0 44 44
20#BZ ~50LLF 8 879 887
108X ~20LLF 52 2079 2131
588Z2 ~10LLF 114 2180 2294
1HBZ ~5LUTF 529 4787 5316
1UTF 994 6524 7518
it 1697 16499 18196
EAR(mSv) 24.43 87.90 87.90
T (mSv) 1.92 5.31 4.99
H284F &
H28.4~H29.38
R 5 (mSv) HE %A
#HEe 1ot
15048 % 0 0 0
100X ~150LLF 0 0 0
7582 ~100LLF 0 1 1
508X ~T75LLF 0 20 20
208X ~50LLF 0 380 380
1088 % ~20LLF 25 1302 1327
588Z ~10LLTF 92 1477 1569
18X ~5LTF 406 4079 4485
1UTF 1155 6908 8063
it 1678 14167 15845
= A(mSv) 16.30 75.30 75.30
FE#(mSv) 1.30 3.71 3.45




H29 % FE

H29.4~H29.6 B

X5 (mSv) BHE %Bh

#H8 X
15048 % 0 0 0
10082 ~150LLF 0 0 0
75488 % ~100LLF 0 0 0
508BZ ~T5LLF 0 0 0
20#BZ ~50LLF 0 53 53
10882 ~20LLF 0 219 219
S5EZ~10LLTF 4 480 484
182 ~5LUTF 144 1730 1874
1UTF 1061 7151 8212
it 1209 9633 10842
=A(mSv) 7.03 48.33 48.33
T (mSv) 0.39 1.41 1.30
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